















Generalized functions approachLinks between Riemann-Liouville, Grunwald-Letnikov,<br/>and Caputo fractional derivativesUsing $\Phi_p(t) = \begin{cases} \frac{d^{p-1}}{\Gamma(\gamma)}, & t > 0\\ 0, & t \le 0 \end{cases}$ the Riemann-Liouville definition can be written as:<br/> $a \mathbf{D}_t^p f(t) = \frac{d^n}{dt^n} (f(t) * \Phi_{n-p}(t))$ and the Caputo derivative is:

$${}_{a}^{C}D_{t}^{p}f(t) = \left(\frac{d^{n}f(t)}{dt^{n}} * \Phi_{n-p}(t)\right)$$



**Generalized functions approach** Links between Riemann-Liouville, Grunwald-Letnikov, and Caputo fractional derivatives

Let us suppose that the function f(t) is (n-1)-times continuously differentiable in the interval [a,T] and that  $f^{(n)}(t)$  is integrable in [a,T]. Then for every p,  $(0 , the Riemann-Liouville derivative <math display="inline">_a \mathbf{D}_t^p f(t)$  exists and coincides with the Grünwald-Letnikov derivative  $_a D_t^p f(t)$ , and if  $0 \leq m-1 \leq p < m \leq n$ , then for a < t < T holds

$${}_{a}\mathbf{D}_{t}^{p}f(t) = {}_{a}D_{t}^{p}f(t) = \sum_{j=0}^{m-1} \frac{f^{(j)}(a)(t-a)^{j-p}}{\Gamma(1+j-p)} + \frac{1}{\Gamma(m-p)} \int_{a}^{t} \frac{f^{(m)}(\tau)d\tau}{(t-\tau)^{p-m+1}}.$$

$${}_{a}\mathbf{D}_{t}^{p}f(t) = {}_{a}^{C}D_{t}^{p}f(t) + \sum_{k=0}^{n-1}\Phi_{k-p+1}(t-a)f^{(k)}(a)$$

#### Generalized functions approach Links between Riemann-Liouville and Caputo derivatives

and generalized / conventional derivatives

$${}_{a}\mathbf{D}_{t}^{p}f(t) = {}_{a}^{C}D_{t}^{p}f(t) + \sum_{k=0}^{n-1}\Phi_{k-p+1}(t-a)f^{(k)}(a)$$

Taking  $p \rightarrow n$ 

$${}_{a}^{L}D_{t}^{n}f(t) = {}_{a}^{C}D_{t}^{n}f(t) + \sum_{k=0}^{n-1} \delta^{(n-k-1)}(t-a)f^{(k)}(a)$$

Compare this with the known relationship:

$$\tilde{f}^{(n)}(t) = f_{\rm C}^{(n)}(t) + \sum_{k=0}^{n-1} \delta^{(n-k-1)}(t-a) f^{(k)}(a)$$

### Sequential fractional derivatives

... or still another way:

$$\frac{d^n f(t)}{dt^n} = \underbrace{\frac{d}{dt} \frac{d}{dt} \dots \frac{d}{dt}}_{n} f(t).$$
$$\mathcal{D}^{\alpha} f(t) = D^{\alpha_1} D^{\alpha_2} \dots D^{\alpha_n} f(t)$$

 $\alpha = \alpha_1 + \alpha_2 + \ldots + \alpha_n$ 

### Generalized functions approach Links between Riemann-Liouville and Caputo derivatives and generalized / conventional derivatives The Riemann-Liouville definition serves as a generalization of the notion of the generalized (in the sense of distributions) derivative, while

the Caputo derivative is a generalization of differentiation in the classical sense.

### Sequential fractional derivatives

Link to the Riemann-Liouville and Caputo derivatives

Riemann-Liouville derivatives:

$${}_{a}\mathbf{D}_{t}^{p}f(t) = \underbrace{\frac{d}{dt}\frac{d}{dt}\cdots\frac{d}{dt}}_{n}{}_{a}D_{t}^{-(n-p)}f(t), \qquad (n-1 \le p < n)$$

Caputo derivatives

$${}^{C}_{a}D^{p}_{t}f(t) = {}_{a}\mathbf{D}^{-(n-p)}_{t}\underbrace{\frac{d}{dt}\frac{d}{dt}}_{\bullet}\cdots \underbrace{\frac{d}{dt}}_{\bullet}f(t), \qquad (n-1$$

Cumulative order is the same, but properties differ!





### The Leibniz rule

Integer order derivative of a product

$$\frac{d^n}{dt^n} \Big( \varphi(t) f(t) \Big) = \sum_{k=0}^n \binom{n}{k} \varphi^{(k)}(t) f^{(n-k)}(t)$$

Let us consider

$$\Omega_n^p(t) = \sum_{k=0}^n \binom{p}{k} \varphi^{(k)}(t) \,_a D_t^{p-k} f(t)$$

## R-L differentiation of an integral depending on a parameter

We know the classical formula:

$$\frac{d}{dt}\int\limits_{0}^{t}F(t,\tau)d\tau=\int\limits_{0}^{t}\frac{\partial F(t,\tau)}{\partial t}d\tau+F(t,t-0)d\tau$$

Main application — in the theory of Green's functions.

**The Leibniz rule**It can be shown thatConside
$$\Omega_n^p(t) = {}_a D_t^p(\varphi(t)f(t)) + R_n^p(t)$$
 $\widetilde{\kappa}(t,\xi) = \frac{1}{n!\Gamma(-q)} \int_a^t (t-\tau)^{-q-1} f(\tau) d\tau \int_{\tau}^t \varphi^{(n+1)}(\xi)(\tau-\xi)^n d\xi.$  $R_n^q(t) = \frac{1}{n!\Gamma(-q)} \int_a^t (t-\tau)^{-q-1} f(\tau) d\tau \int_{\tau}^t \varphi^{(n+1)}(\xi)(\tau-\xi)^n d\xi.$ **Therefore,** $a D_t^p(\varphi(t)f(t)) = \sum_{k=0}^n {p \choose k} \varphi^{(k)}(t) a D_t^{p-k} f(t) - R_n^p(t)$ 

# **R-L differentiation of an integral depending on a parameter** Therefore, ${}_{0}D_{t}^{a}\int_{0}^{t}K(t,\tau)d\tau = \int_{0}^{t}\mathcal{D}_{t}^{\alpha}K(t,\tau)d\tau + \lim_{\tau \to t=0}\tau D_{t}^{\alpha-1}K(t,\tau) \qquad (0 < \alpha < 1)$ Important particular case: $K(t,\tau) \longrightarrow K(t-\tau)f(\tau)$ ${}_{0}D_{t}^{\alpha}\int_{0}^{t}K(t-\tau)f(\tau)d\tau = \int_{0}^{t}D_{\tau}^{\alpha}K(\tau)f(t-\tau)d\tau + \lim_{\tau \to +0}f(t-\tau){}_{0}D_{\tau}^{\alpha-1}K(\tau)$

### Behavior near lower terminal Suppose that near t = a we have $f(t) = \sum_{k=0}^{\infty} \frac{f^{(k)}(a)}{k!} (t-a)^k$ Differentiating term-by-term: ${}_aD_t^p f(t) = {}_a\mathbf{D}_t^p f(t) = \sum_{k=0}^{\infty} \frac{f^{(k)}(a)}{\Gamma(k-p+1)} (t-a)^{k-p}$ Therefore, $aD_t^p f(t) = {}_a\mathbf{D}_t^p f(t) \sim \frac{f(a)}{\Gamma(1-p)} (t-a)^{-p}, \quad (t \to a+0)$ $\lim_{t \to a+0} {}_aD_t^p f(t) = \lim_{t \to a+0} {}_a\mathbf{D}_t^p f(t) = \begin{cases} 0, & (p < 0) \\ f(a), & (p = 0) \\ \infty, & (p > 0) \end{cases}$

### Behavior far from the lower terminal

Then, using definition of the gamma function and the reflection formula for the gamma function,

$${}_{a}D_{t}^{p}\varphi(t) = \sum_{k=0}^{\infty} \frac{\Gamma(p+1)}{\Gamma(k+1)\Gamma(p-k+1)} \frac{(t-a)^{k-p}}{\Gamma(k-p+1)} \varphi^{(k)}(t)$$
$$= \frac{\Gamma(p+1)\sin(p\pi)}{\pi} \sum_{k=0}^{\infty} \frac{(-1)^{k}(t-a)^{k-p}}{(p-k)k!} \varphi^{(k)}(t).$$

Behavior near lower terminal Now suppose  $f(t) = (t-a)^q f_*(t)$ , where  $f_*(a) \neq 0$ , q > -1, and  $f_*(t)$  can be represented by the Taylor series. Then we have:  $a \mathbf{D}_t^p f(t) = \sum_{k=0}^{\infty} \frac{f_*^{(k)}(a)}{k!} \frac{\Gamma(q+k+1)}{\Gamma(q+k-p+1)} (t-a)^{q+k-p}$   $\mathbf{D}_t^p f(t) \approx \frac{f_*(a)\Gamma(q+1)}{\Gamma(q-p+1)} (t-a)^{q-p}, \quad (t \to a+0)$  $\lim_{t \to a+0} a \mathbf{D}_t^p f(t) = \begin{cases} 0, & (p < q) \\ \frac{f_*(a)\Gamma(q+1)}{\Gamma(q-p+1)}, & (p = q) \\ \infty, & (p > q) \end{cases}$ 









Laplace transforms of

fractional derivatives





Riemann-Liouville integral is a convolution:

$${}_{0}\mathbf{D}_{t}^{-p}f(t) = {}_{0}D_{t}^{-p}f(t) = \frac{1}{\Gamma(p)} \int_{0}^{t} (t-\tau)^{p-1}f(\tau)d\tau = \frac{t^{p-1}}{\Gamma(p)} * f(t)$$
$$G(s) = L\{\frac{t^{p-1}}{\Gamma(p)}; s\} = s^{-p}$$

Therefore,

$$L\{_{0}\mathbf{D}_{t}^{-p}f(t);s\} = L\{_{0}D_{t}^{-p}f(t);s\} = s^{-p}F(s)$$



### Laplace transform of R-L derivative

The R-L derivative can be written as

$${}_{0}\mathbf{D}_{t}^{p}f(t) = g^{(n)}(t),$$
  
$$g(t) = {}_{0}\mathbf{D}_{t}^{-(n-p)}f(t)\frac{1}{\Gamma(k-p)}\int_{0}^{t}(t-\tau)^{n-p-1}f(\tau)d\tau, \qquad (n-1 \le p < n).$$

Using Laplace transform gives:  $L\{_0\mathbf{D}_t^pf(t);s\}=s^nG(s)-\sum_{l=0}^{n-1}s^kg^{(n-k-1)}(0)$ 



### Laplace transform of sequential derivatives

Recall the Laplace transform of R-L derivative for  $0 < \alpha \leq 1$ 

$$\{ {}_{0}\mathbf{D}_{t}^{\alpha}f(t); s \} = s^{\alpha}F(s) - \left[ {}_{0}\mathbf{D}_{t}^{\alpha-1}f(t) \right]_{t=0}$$

and use it m times:

$$\begin{split} L_{\left\{ \mathbf{0} \mathcal{D}_{t}^{q_{m}} f(t); s \right\} &= L_{\left\{ \mathbf{0} \mathcal{D}_{t}^{q_{m}} \mathbf{0} \mathcal{D}_{t}^{q_{m-1}} f(t); s \right\} \\ &= p^{p_{m}} L_{\left\{ \mathbf{0} \mathcal{D}_{t}^{q_{m-1}} f(t); s \right\} \\ &- \left[ \mathbf{0} \mathcal{D}_{t}^{p_{m-1}} \mathbf{0} \mathcal{D}_{t}^{p_{m-1}} f(t) \right]_{t=0} \\ &= p^{p_{m}} L_{\left\{ \mathbf{0} \mathcal{D}_{t}^{q_{m-1}} f(t); s \right\} - \left[ \mathbf{0} \mathcal{D}_{t}^{q_{m-1}} f(t) \right]_{t=0} \\ &= p^{p_{m}} L_{\left\{ \mathbf{0} \mathcal{D}_{t}^{q_{m-2}} f(t); s \right\} \\ &- p^{p_{m}} \left[ \mathbf{0} \mathcal{D}_{t}^{q_{m-1}-1} f(t) \right]_{t=0} \\ &- \left[ \mathbf{0} \mathcal{D}_{t}^{q_{m-1}-1} f(t) \right]_{t=0} \\ &\cdots \cdots \\ &= s^{\sigma_{m}} F(s) - \sum_{k=0}^{m-1} s^{\sigma_{m}-\sigma_{m-k}} \left[ \mathbf{0} \mathcal{D}_{t}^{\sigma_{m-k}-1} f(t) \right]_{t=0}. \end{split}$$





order derivatives:

Laplace transform of sequential derivativesLet us introduce the following notation:
$$a\mathcal{D}_t^{\sigma_m} \equiv aD_t^{\alpha_m} aD_t^{\alpha_{m-1}} \cdots aD_t^{\alpha_1};$$
 $a\mathcal{D}_t^{\sigma_m-1} \equiv aD_t^{\alpha_m-1} aD_t^{\alpha_m-1} \cdots aD_t^{\alpha_1};$  $\sigma_m = \sum_{j=1}^m \alpha_j, \quad 0 < \alpha_j \le 1, \quad (j = 1, 2, ..., m)$ Fourier transform of a convolution: $h(t) * g(t) = \int_{-\infty}^{\infty} h(t) + g(t) = \int_{-\infty}^{\infty} h(\tau) + g(t) +$ 



